	Lab
	scored cells
	dic
	dic / cell
	± SE
	distribution of dic
	DI
	u-value
	z-score
	z score result

	
	
	
	
	
	0 dic
	1 dic
	
	
	
	

	1
	50
	6
	0.12
	0.049
	44
	6
	0.90
	-0.55
	0
	Satisfactory

	2
	50
	6
	0.12
	0.049
	44
	6
	0.90
	-0.55
	0
	Satisfactory

	3
	50
	7
	0.14
	0.053
	43
	7
	0.88
	-0.65
	1.246
	Satisfactory

	4
	50
	9
	0.18
	0.060
	41
	9
	0.84
	-0.86
	3.739
	Unsatisfactory

	5
	50
	7
	0.14
	0.053
	43
	7
	0.88
	-0.65
	1.246
	Satisfactory

	6
	47
	6
	0.13
	0.052
	41
	6
	0.89
	-0.57
	0.477
	Satisfactory

	7
	41
	6
	0.15
	0.060
	35
	6
	0.88
	-0.61
	1.642
	Satisfactory

	8
	50
	7
	0.14
	0.053
	43
	7
	0.88
	-0.65
	1.246
	Satisfactory

	9
	50
	8
	0.16
	0.057
	42
	8
	0.86
	-0.76
	2.493
	Questionable

	10
	50
	6
	0.12
	0.049
	44
	6
	0.90
	-0.55
	0
	Satisfactory

	11
	50
	6
	0.12
	0.049
	44
	6
	0.90
	-0.55
	0
	Satisfactory

	12
	50
	6
	0.12
	0.049
	44
	6
	0.90
	-0.55
	0
	Satisfactory

	13
	50
	6
	0.12
	0.049
	44
	6
	0.90
	-0.55
	0
	Satisfactory

	14
	50
	5
	0.10
	0.045
	45
	5
	0.92
	-0.45
	-1.246
	Satisfactory

	15
	50
	6
	0.12
	0.049
	44
	6
	0.90
	-0.55
	0
	Satisfactory

	16
	50
	6
	0.12
	0.049
	44
	6
	0.90
	-0.55
	0
	Satisfactory

	17
	50
	7
	0.14
	0.053
	43
	7
	0.88
	-0.55
	1.246
	Satisfactory



[bookmark: _GoBack]Table S1: Yield of dicentric chromosomes (dic) after scoring the gallery A of moderate dose images. According to dispersion index (DI) and u-test there was no deviation from the Poisson distribution. 
